1. EERTEAR
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RE "R | BEMER| HMB | EFER| ZToft &
3 123 0 4 1 16 1 145
E58 168 1 21 1 10 0 201
= 291 1 25 2 26 1 346
84.1% 0.3% 1.2% 0.6% 1.5% 0.3%
3 THIZRZEE
KFE BA | EMRR| BB | EFER| ZTofb 5
3 137 0 6 0 21 1 165
58 145 4 23 0 6 3 181
= 282 4 29 0 27 4 346
81.5% 1.2% 8.4% 0.0% 7.8% 1.2%
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KFE BA | EMRR| HMB | EFERE| ZTofb 5
3 124 0 9 2 19 3 157
58 142 8 27 2 11 4 194
= 266 8 36 4 30 7 351
76.9% 2.3% 10.4% 1.2% 8.7% 2.0%
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SERE 1232 87 20 7
BIEEE 520 87 14 51
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—MREGEET X B BER | A%H | KEeER
ZEREHK 0 0 0 1
AIEER 0 0 0 1
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ZEREHK 8 0 12
AEEHR 8 0 12




